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5-3
Solving Right Triangles

Right Triangle
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Leg-"
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Pythagorean Theorem
In a right triangle where a and b are the legs and c is the

hypotenuse, a2 + b2 - 02
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Find the missing side in the right triangle using the
pythagorean theorem:
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Find the missing side in the right triangle using the
pythagorean theorem:
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Find the missing side in the right triangle using the
pythagorean theorem:
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How to find trig in RIGHT triangles:
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Find the other six trigonometric functions:

(hint: draw a triangle)
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Find the other six trigonometric functions:

(hint: draw a triangle)
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